Math 001- , Quiz 1 (Review Arithmetic and P.2), Term 181, Instructor: Sayed Omar,

13-Sep-18
Serial #: ID NAME
Show all necessary steps for full marks.
Question 1: (5 points)(Textbook P.2 Exercise 32:  Find the following
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Question 2: (5 points)(Textbook P.2 Exercises 45 and 46):  If A ={x|x 2-2},
={x|x <4} and C ={x|-1<x <5}, then find
(a): BUC =2
(b): BNC =7
(c): AUC =7
(a): ANC =2
Solution:
A < >
[-2 >
B < >
< 4)
C <

(a) BUC ={x|x = 5}
() BAC ={x|—1<x <4}
(€) AUC ={x|x 2-2}=[-2,0)=A

(d) ANC ={x|-1<x <5}=(-1,5]

A 4

Math 001—, Quiz 1 (Review Arithmetic and P.2), Term 181, Instructor: Sayed Omar, 13-Sep-18



Math 001- , Quiz 1 (Review Arithmetic and P.2), Term 181, Instructor: Sayed Omar, 13-Sep-18
Question 3: (5 points):  Find the value of the expression —17 + 3[8X —4(3x - 2)] when X = —%
Solution:
—17+3[8x—4(3x—2) | =17 +3[8x—12x +8]

=-17+3[-4x+8]

o Yo

=-17+3[3+8]
=-17+33
=16

Question 4: (5 points):  If —3<x <-1, then write the expression [3+x |+ |2+ 2x|+ H—x H
without the absolute value symbols.

Solution: x>-3 = x+3>0 = |x+3=x+3

x<-1 = x+1<0 = 2+42x<0 = [2+2x|=—(]2+2x|)=-2-2x
foxf=i|=

The expression [3+X |+[2+2x|+[-x|=x +3-2-2x —x =1-2x
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